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77K (BER) (B) 300 300 300 300 200 288 300 300 300 300 300 300 300 300 250 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 150 150 150 150

FILI27ER(FEBZIFA) (B) 250 200 200 250 250 200 250 200 250 250 250 200 250 250 150 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 200 250 250 250 250 250 150 150 150 150

B ([7ILo7EGEIP) (B) 250 250 250 250 250 300 250 250 250 250 250 250 250 250 350 250 250 250 250 300 300 250 250 250 250 250 250 300 250 250 250 250 250 250 250 250 250 150 150 150 150

#o(OS5vh—(B) 420 420 420 350 490 350 420 420 420 420 420 490 350 350 280 350 420 350 490 490 420 420 420 420 420 420 420 560 420 350 490 420 350 350 350 350 350 140 140 140 140

. EEHIER(B) 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 200 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250 250

K (D)=L HYURERTYNE) 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 240 300 300 300 300 300 300 300 300

=2 [E B & 5 (B)] 1,770 1,720 1,720 1,700 1,840 1,600 1,758 1,720 1,770 1,770 1,770 1,790 1,700 1,700 1,630 1,650 1,770 1,700 1,840 1,890 1,820 1,770 1,770 1,720 1,770 1,770 1,770 1,960 1,770 1,700 1,840 1,720 1,640 1,700 1,700 1,700 1,700 1,140 1,140 1,140 1,140

Ry bkRRLK(G00mI) (&) 1,656 1,704 1,584 1,800 1,704 1,248 1,728 1,872 1,752 1,704 1,608 1,704 1,704 1,704 1,704 1,704 1,632 1,704 1,824 1,704 1,824 1,704 1,704 1,728 1,704 1,704 1,704 1,824 1,872 1,704 1,704 1,608 1,704 1,800 1,704 1,704 1,824 648 480 600 624

BIILY(AD) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
XMTLYIE., REFRUERERIEL L 2—I2HE

T7ILZER () 230 220 220 230 90 280 180 230 180 230 180 180 180 230 230 230 180 210 250 250 250 230 230 210 250 230 230 250 250 230 250 280 230 230 230 220 140 160 113 160 152

(%8) 6 8 8 6 5 8 4 6 4 6 4 4 4 6 6 6 4 5 6 6 6 6 6 5 6 6 6 6 6 6 6 7 6 6 6 6 6 3 2 3 3

ZHRES DA HESAR(E) 2 0 2 2 2 2 2 2 0 1 2 2 2 0 p) 2 0 p) 2 2 0 2 2 0 2 2 2 1 1 2 2 2 2 2 2 2 0 2 2 2 2

BN ANT) () 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Ay AR (EE#EA) (K) 18 18 18 18 18 18 18 18 18 18 18 36 18 18 18 18 18 18 18 18 18 36 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18

IOV AAILULE) (K) 1 1 1 1 1 1 1 1 1 1 1 2 1 1 1 1 1 1 1 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Y (&) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 0 0 0 0

BHErL(H) 8 6 5 8 8 8 8 8 8 8 8 8 6 8 0 6 8 8 8 8 8 8 8 8 8 8 8 8 6 8 8 8 11 7 5 5 6 0 2 5 3

L ([ESH) 1,400 1,400 1,400 1,400 1,400 1,000 1,400 1,400 1,400 1,400 1,400 1,600 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,200 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 1,400 600 400 600 600

IR (KRAR) #) 2,100 1,750 1,750 2,100 2,100 1,750 2,100 2,100 2,100 2,100 2,100 2,100 2,100 1,750 2,100 2,100 2,100 2,100 2,100 2,100 1,750 2,100 2,100 2,100 2,100 1,750 2,100 1,750 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 700 700 700 700

(F8) 6 5 5 6 6 4 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 5 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 2 2 2 2

TR (FHEE) @) 200 200 750 200 200 200 200 200 200 200 200 200 200 200 200 200 200 200 200 0 200 200 200 200 200 200 200 200 200 200 200 200 200 200 200 200 200 50 50 50 50

(F]8) 1 1 1 1 0 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

wIZY(R) 850 750 750 850 850 500 850 850 950 850 850 950 850 850 850 950 850 850 850 850 850 900 850 850 850 550 850 850 600 850 850 850 850 850 850 850 850 200 200 200 200

(F]8) 6 6 6 6 6 3 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 4 6 6 6 6 6 6 6 6 1 1 1 1

FEFEHER(E) 20 15 15 15 15 10 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 15 10 15 15 15 15 15 15 15 5 5 5 5

FEFESEREBRH (X) 4 3 3 3 3 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 2 3 3 3 3 3 3 3 1 1 1 1

DIvbTav 2Ny ) 235 207 207 185 286 144 235 235 235 285 235 50 235 235 235 285 235 235 235 235 235 50 235 235 50 171 235 235 235 235 235 235 235 235 235 235 235 72 72 72 72

(F8) 5 5 5 5 5 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 2 1 2 2

JLFE (# 400 200 200 400 400 200 400 400 400 400 400 400 600 200 400 400 200 400 400 400 0 400 400 400 400 200 400 200 200 400 400 400 400 400 200 400 400 400 300 300 400

HH#ERA L EO 800 800 800 800 800 300 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 800 250 150 100 250

(F]8) 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2

htvbkarno(g) 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

HhteybHRX htykar o) (K) 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18 18

Ly bR—/x—(OV5'447°) (A=) 72 90 90 83 90 66 90 90 102 90 90 102 90 90 90 102 90 90 90 90 90 90 90 90 90 90 78 90 90 90 90 90 90 90 90 90 90 24 12 24 24

(F8) 6 6 6 6 6 5 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 2 1 2 p)

27 IL (%) 280 280 280 280 280 350 480 280 480 180 480 480 480 480 280 280 472 330 280 280 280 280 280 480 280 280 280 280 280 280 280 280 280 280 280 280 280 100 50 100 100

(F]8) 5 5 5 5 5 3 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 6 5 5 5 5 5 5 5 2 1 2 2

TIL——k (0 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 0 30 30 30 30 30 50 30 30 30 30 30 0 30 30 30 30 30 10 10 10 10

£EAS# 672 224 224 224 112 336 336 336 336 336 336 336 336 336 336 336 336 336 336 336 336 336 336 336 336 224 336 336 336 252 336 336 156 336 336 336 336 448 336 336 336

(F8) 2 2 3 3 3 1 3 3 3 3 3 3 3 3 3 3 3 3 3 3 2 2 2 3 2 2 2 2 2 3 2 2 2 2 2 2 2 1 1 1 1

LEDIRAZE(E) 1 1 1 1 1 1 1 1 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 2 1 1 1 1 2 2 1 1 1 1 2 0 2 1 2 1

dJ—FY—=IL(&) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 2 1 1 1 1 2 2 1 1 1 0 2 0 2 1 2 1

KEBALAREE () 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 2 2 2 2 2 2 2 2 2 2 2 2

EEMAEFEEST (B) 4 3 3 4 4 4 4 4 4 2 0 3 4 4 3 4 4 3 4 4 4 4 4 4 3 4 4 4 4 3 4 4 4 4 4 4 4 4 4 4 4

FABIEFE=Z— )L —R(K) 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

TTAR—ILE () 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50

{ET O ELHERIT) (B 296 296 206 296 296 206 296 296 206 296 296 206 296 206 206 296 296 206 296 296 206 296 296 206 296 206 206 296 206 206 296 206 296 296 206 206 296 206 206 296 296

{ET DO (KARIT) (B 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94 94

= BLYSEU\YY) 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24

= BEErAL(Bl5) 100 100 100 100 100 100 100 100 100 100 100 100 100 0 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100

= a3a=4H— 3 h—FK (EB) 5 5 5 5 5 5 5 5 5 5 0 5 5 0 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 0 5 5 5 5 5 5

= [MEGRE-BRESEH) () 4 4 4 4 4 4 4 4 4 4 0 4 4 0 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 0 4 4 4 4 4 4

= X GEEE-EREER) B 2 2 2 2 2 2 2 2 2 2 0 2 2 0 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 2 2 2 2 2 2

R vk (#0) 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30

BEI7—<vr#) 30 30 30 30 30 80 30 30 30 30 30 30 30 30 30 30 30 0 60 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30

BRI 7—<yhER T (E) 1 1 1 1 1 1 1 1 1 1 0 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1

B ([T —RAXEE.BES) (@) 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1

| AARU(B) 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

H F—RyH X (E) 1 1 1 1 1 0 0 1 1 1 1 1 1 0 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

P o 7 = 0 0 0 0 1 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

AR L (=) () N 0 0 0 0 1 1 2 0 2 0 2 2 2 2 0 0 2 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

RLAK —pgH! 4 0 0 4 4 4 4 4 4 4 3 4 4 4 4 4 4 4 4 4 4 4 4 4 4 0 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0

rMLAEREK BHFEFXIGE 1 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 0 0 0 0 0 0 0 0 0

BRATIR AR T 1 0 0 1 0 0 0 1 0 1 0 0 0 0 1 1 0 0 1 1 1 1 1 0 1 0 1 1 1 1 1 0 0 0 0 0 0 0 0 0 0

FHLKRT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

BKEBE—R(WE) (T—hF., a4 M) 1 0 0 1 0 0 0 1 0 1 0 0 0 0 1 1 0 0 1 1 1 1 1 0 1 0 0 1 1 1 1 0 0 0 0 0 0 0 0 0 0

< PEKR—=RGHE) (BIRR/NLT . P34 M) 2 0 0 5 0 0 0 2 0 1 0 0 0 0 1 1 0 0 5 7 6 3 2 0 1 0 1 4 5 2 1 0 0 0 0 0 0 0 0 0 0

Sy EKAE—R(H=—) (a4 M) 6 0 0 2 0 0 0 4 0 2 0 0 0 0 2 2 0 0 0 2 0 2 1 0 1 0 1 1 0 1 4 0 0 0 0 0 0 0 0 0 0

* KEHR—R 0 0 0 0 185 127 80 0 185 0 48 22 121 200 0 0 85 150 0 0 0 0 0 84 0 0 0 0 0 0 0 159 0 0 0 0 0 0 0 0 0

| aRH 23— (A ~7Kh—2R) 0 0 0 0 0 1 0 0 0 0 1 1 1 1 0 0 0 1 0 0 0 0 0 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0

" h—RT3(k 0 0 0 0 4 2 2 0 4 0 0 0 2 2 0 0 2 2 0 0 0 0 0 1 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0

k hEYrHR (IUR—)LEALA) 33 0 0 33 0 0 0 33 0 33 0 0 0 0 33 33 0 0 0 33 33 33 33 0 33 0 33 33 33 33 33 0 0 0 0 0 0 0 0 0 0

p I OUF AN (RUR—)VAALF) 1 0 0 1 0 0 0 1 0 1 0 0 0 0 1 1 0 0 0 1 1 1 1 0 1 0 1 1 1 1 1 0 0 0 0 0 0 0 0 0 0

L vkt 45— 1 0 0 1 0 0 0 1 0 1 0 0 0 0 1 1 0 0 0 1 1 1 1 0 1 0 1 1 1 1 1 0 0 0 0 0 0 0 0 0 0

LEDS>A> 5 0 0 5 5 5 5 5 5 5 5 5 5 5 5 5 5 0 5 5 5 5 5 5 5 0 5 5 5 5 5 5 0 0 0 0 0 0 0 0 0

825 80 0 0 80 80 80 80 80 80 80 80 80 80 80 80 80 80 0 80 80 80 80 80 80 80 0 80 80 80 80 80 80 0 0 0 0 0 0 0 0 0

L F 1 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 0 0 0 0 0 0 0 0 0

< R— LR/ N—IL 1 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 0 0 0 0 0 0 0 0 0

HJbyT (BPKERERAIER) 2 0 0 2 0 2 0 2 0 2 2 2 0 2 2 2 0 0 2 2 2 2 2 2 2 0 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0

LA 0 0 0 0 0 1 0 0 0 0 1 1 1 1 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0

ARYNI—5—(H) 2 0 0 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0

27 )L (%) 280 280 280 280 280 350 480 280 480 180 480 480 480 480 280 280 472 330 280 280 280 280 280 480 280 280 280 280 280 280 280 280 280 280 280 280 280 100 50 100 100

E (#0 0 0 0 0 200 200 200 0 200 0 198 200 200 10 0 0 169 200 0 0 0 0 0 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7

#HKE@®) 0 0 0 0 200 0 200 0 200 0 200 200 200 0 0 0 200 600 0 0 0 0 0 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

RER 0 0 0 0 1 1 1 0 2 0 1 1 1 1 0 0 1 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

1395240y b (4) Ezrli~ 0 0 0 0 1 1 1 0 1 0 0 1 1 2 0 0 0 1 0 0 0 0 1 0 0 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0

O—F 0 0 0 0 1 1 1 0 4 0 0 1 1 2 0 0 1 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

=HI 0 0 0 0 1 0 1 0 4 0 0 1 1 2 0 0 1 1 0 0 0 0 1 0 0 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0

dI—FY)—=J)L(&) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 2 1 1 1 1 2 2 1 1 1 0 2 0 2 1 2 1

BASAME) SUMT X 6 0 0 0 0 5 5 0 0 0 0 0 5 5 5 0 0 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

— SUM2 X 6 0 0 0 0 3 2 0 0 2 0 0 3 3 2 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

SUM3 x 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

o EERKEER GV (&) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

XA FBADRAREEG ANT)(E) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

BRAFBADRAREEAN VAR (X) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

B AR HORBRERBAT A MILULE) (X) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

F——(H) 0 0 0 0 1 1 1 0 1 0 1 1 1 1 0 0 1 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

IOV hYE—(HB) 0 0 0 0 1 1 0 0 0 0 0 1 1 1 0 0 1 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Trvx(R) 0 0 0 0 2 2 0 0 2 0 0 2 2 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

ALK AL (R) 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

25IEL(X) 0 0 0 0 1 0 0 0 3 0 0 1 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

PR 5 () 20L 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

18L 0 0 0 0 2 0 0 0 0 0 0 2 2 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

IETEwyr(GE) 0 0 0 0 1 0 0 0 1 0 0 1 1 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

+F45(K) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

NT—(K) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

ZRAN(K) 0 0 0 0 0 0 0 0 1 0 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

X h—(8) 0 0 0 0 1 1 0 0 1 0 1 2 1 1 0 0 1 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

L (R) 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

KE(E) 0 0 0 0 1 1 0 0 1 0 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

O0—Y4(X) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

2B EREM b (H) 0 0 0 0 1 0 0 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

KEMGERAESM HH) 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

S 1E2E (40) 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

HZE(H) 0 0 0 0 2 0 2 0 5 0 2 2 2 2 0 0 2 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

WIS (BH) 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

WRERL VS () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

PEERMAESEM R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

HIE# (&) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

I7—TkGE) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

BEEE(R) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

7—3—(8) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Kt 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

JIR(EEES) ) 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 500 1,000 1,000 1,000 500 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 500

EBRAR— LYK 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 4 2

BRAR—ILRNYFR/N\—T« 3> 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

AT (BR) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 4 2




HEREESFRIZOWLWT(RIE4A1BIRE) [EERX]

7N HE I\ SNz [EMasSa |[§MR R0 R . — EEHRS | RS
2 B g“’“& g,m& =ity |=ray [y Ry [FEEE éﬁ*ﬁ’“ﬁ Enmas | Bt |ZEREH
H— H— H— HB— 778 & Ha—
77K (BER) (B) 150 150 300 300 200 150 200 12,988 5,150 0 18,138
FILI27R(RBZFA) (B) 150 150 250 200 200 150 250 10,800 2,200 0 13,000
B ([TILI7XEIR) (B) 150 150 250 250 200 100 250 11,500 4,800 0 16,300
# o |[OIvh—(B) 140 140 350 350 350 140 420 17,500 1,680 0 19,180
. XEHPER(B) 250 250 250 250 250 250 250 11,950 1,650 0 13,600
K (D)=L HYURERTYNE) 300 300 300 300 300 300 300 14,340 1,380 0 15,720
% [E B & 5 (B)] 1,140 1,140 1,700 1,650 1,500 1,090 1,670 79,078 16,860 0 95,938
Ry bkRRLK(G00mI) (&) 624 624 1,704 1,224 1,224 600 1,704 73,320 8,544 0 81,864
BIILY(AND) 0 0 0 0 0 0 0 0 0 88 88
XHZILYIE, REFRUVERBREL L 2—(BE

T7ILZER () 160 160 250 240 240 180 220 0 0 10,185

(%8) 3 3 6 5 5 4 8
ZHRES DA HESAR(E) 2 2 2 2 2 2 0 0 0 77
FREB ANT)(H) 1 1 1 1 1 1 1 0 0 48
Ay AR (EE#EA) (K) 18 18 18 18 18 18 18 0 0 900
I OUF AL ULE) (K) 1 1 1 1 1 1 1 0 0 50
Y (&) 0 0 0 0 1 1 0 1 0 38
BHErL(H) 5 4 3 5 0 3 5 4 0 310
L ([ESH) 600 400 1,400 1,400 600 400 1,400 60 0 59,860
IR (KRAR) #) 700 700 2,100 2,100 2,100 800 2,100 0 0 88,650

(F8) 2 2 6 6 2 2 6
TR (FHEE) @) 50 50 200 200 100 50 200 0 8,800

(F]8) 1 1 1 1 0 1 1
wIZY(R) 200 200 850 850 500 200 850 0 0 35,150

(F]8) 1 1 6 6 1 1 6
FEFEHER(E) 5 5 15 15 5 5 15 0 0 635
FEEHESRGEGEER) (X) 1 1 3 3 1 1 3 0 0 127
DxybTavia(3v) 72 72 235 235 144 72 235 0 0 9,383

(F8) 2 2 5 5 1 2 5
JLFE (# 100 600 200 300 300 300 400 0 0 16,400
BHE AR L 250 250 800 800 250 250 800 0 0 33,250

(F]8) 2 2 2 2 2 2 2
htvbkarno(g) 1 1 1 1 1 1 1 0 0 47
HhteybHRX htykar o) (K) 18 18 18 18 18 18 18 0 0 864
Ly bR—/x—(OV5'447°) (A=) 24 24 90 90 24 24 90 0 0 3,755

(F8) 2 2 6 6 2 2 6
A4 )L (#) 100 100 280 280 100 100 280 1,000 0 14,562

(F]8) 2 2 5 5 2 2 5
TIL——k (0 10 10 10 10 10 10 10 360 0 1,540
SER& @0 336 448 336 336 336 336 336 0 0 15,752

(F8) 1 1 2 2 1 1 3
LED#ZJE (8) 1 1 2 2 2 1 2 0 0 59
dJ—FY—=IL(&) 1 1 2 2 2 1 2 23 0 79
KEBALAREE () 2 2 2 2 2 2 2 0 0 94
EEMAEFEEST (B) 4 4 4 4 4 4 4 0 0 179
A LERE=—)L—R(K) 1 1 0 1 1 0 1 0 0 44
T4 AL —ILE (#) 50 50 30 50 50 50 50 0 0 2,380
L2 (FELHRFAIT) (B) 296 296 296 296 296 296 296 0 0 14,208
EEL D (KAMIT) (K 94 94 94 94 94 94 94 0 0 4,512
= BLYSEU\YY) 24 24 24 24 24 12 24 0 0 1,140
= BEErAL(Bl5) 100 100 100 100 100 100 100 0 0 0
e a3a =45 —a R—FK (&) 5 5 5 5 5 5 5 0 0 225
= [MEGRE-BRESEH) () 4 4 4 4 4 4 4 0 0 180
= X GEEE-EREER) B 2 2 2 2 2 2 2 0 0 90
R vk (#0) 30 30 30 30 30 30 30 255 0 1,695
HHRIT7—Ivb () 30 30 30 30 30 30 30 510 0 2,000
BRI 7—<yhER T (E) 1 1 1 1 1 1 1 0 0 45
2 (TS —RAXEE. . BES) (A 1 1 1 1 1 1 1 0 0 46
| AARU(B) 1 1 1 1 1 1 1 0 0 47
Jii F—RyH X (E) — 1 1 1 1 1 1 1 0 0 44
P o 7 n=k 0 0 0 0 0 0 0 0 0 2
TR REBIL (BB R) (F) o 0 0 0 0 0 0 0 0 0 78
FLARK —fgH 0 0 0 0 0 0 0 0 0 115
rMLAEREK BHFEFXIGE 0 0 0 0 0 0 0 0 0 29
BRATIR AR T 0 0 0 0 0 0 0 0 0 17
FHLKRT 0 0 0 0 0 0 0 0 0 0
BKEBE—R(WE) (T—hF., a4 M) 0 0 0 0 0 0 0 0 0 16
< PEKR—=RGHE) (BIRR/NLT . P34 M) 0 0 0 0 0 0 0 0 0 49
. EKF—X (Y =—) (a1 M) 0 0 0 0 0 0 0 0 0 31
* KEHR—R 0 0 0 0 0 0 0 0 0 1,446
| [ERZFZ—(FEO~R—X) 0 0 0 0 0 0 0 0 0 8
" h—RT3(k 0 0 0 0 0 0 0 0 0 24
k hEYrHR (IUR—)LEALA) 0 0 0 0 0 0 0 0 0 528
p IO UFAIL(RUFR—ILR(LA) 0 0 0 0 0 0 0 0 0 16
L vkt 45— 0 0 0 0 0 0 0 0 0 16
LEDS > A2Y 0 0 0 0 0 0 0 0 0 140
587 0 0 0 0 0 0 0 0 0 2,240
L F 0 0 0 0 0 0 0 0 0 29
I R—ILERR/ A —IL 0 0 0 0 0 0 0 0 0 29
HJbyT (BPKERERAIER) 0 0 0 0 0 0 0 0 0 46
mLE 0 0 0 0 0 0 0 0 0 7
ARYrI—5—(H) 0 0 0 0 0 0 0 0 0 56
AAIL () 100 100 280 280 100 100 280 1,000 0 14,562
E (#0 0 0 0 0 0 0 0 480 0 2464
#HKE@®) 0 0 0 0 0 0 0 600 0 2,800
RER 0 0 0 0 0 0 0 4 0 16
R L, 51k 0 0 0 0 0 0 0 13 0 25
dedtyh () a—F 0 0 0 0 0 0 0 3 0 17
=HI 0 0 0 0 0 0 0 12 0 27
dI—FY)—=J)L(&) 1 1 2 2 2 1 2 23 0 79
BHTAME) SUM1 X 6 0 0 0 0 0 0 0 17 0 47
N SUM2 X 6 0 0 0 0 0 0 0 0 0 18
=R (8) SUM3 x 8 0 0 0 0 0 0 0 0 0 0
o EERKEER GV (&) 0 0 0 0 0 0 0 0 0 0
XA FBADRAREEG ANT)(E) 0 0 0 0 0 0 0 1 0 1
BRAFBADRAREEAN VAR (X) 0 0 0 0 0 0 0 6 0 6
BRAFBADKARERAT DA AILALE) (K) 0 0 0 0 0 0 0 1 0 1
F——(H) 0 0 0 0 0 0 0 4 0 15
IOV hYE—(HB) 0 0 0 0 0 0 0 1 0 9
Trvx(R) 0 0 0 0 0 0 0 4 0 18
FAT KA AL (OK) 0 0 0 0 0 0 0 0 0 1
25IFEL(K) 0 0 0 0 0 0 0 23 0 30
WAL A~ ey (L 20L 0 0 0 0 0 0 0 0 0 1
RS (8) 18L 0 0 0 0 0 0 0 0 0 7
IETEwyr(GE) 0 0 0 0 0 0 0 1 0 7
T2 (X) 0 0 0 0 0 0 0 10 0 10
NI—(K) 0 0 0 0 0 0 0 0 0 0
ZRAN(K) 0 0 0 0 0 0 0 3 0 7
xYh—(&) 0 0 0 0 0 0 0 19 0 30
L (R) 0 0 0 0 0 0 0 3 0 5
KE(E) 0 0 0 0 0 0 0 3 0 9
O0—Y4(X) 0 0 0 0 0 0 0 177 0 177
2B EREM b (H) 0 0 0 0 0 0 0 0 0 3
KRERERESRHM GH 1 1 1 1 1 1 1 0 0 47
BSIEZE () 0 0 0 0 0 0 0 2 0 3
HZEE) 0 0 0 0 0 0 0 13 0 34
WIS (BH) 0 0 0 0 0 0 0 10 0 12
RERL D () 0 0 0 0 0 0 0 1 0 1
PEERMAESEM R 0 0 0 0 0 0 0 0 0 0
HIE# (&) 0 0 0 0 0 0 0 1 0 1
I7—TkGE) 0 0 0 0 0 0 0 2 0 2
BEEE(R) 0 0 0 0 0 0 0 0 0 0
7—3—(8) 0 0 0 0 0 0 0 12 0 12
Kt 0 0 0 0 0 0 0 85 0 85
JIR(EEES) ) 1,000 1,000 500 1,000 1,000 1,000 1,000 0 0 46,000
EBRAR— LYK 2 2 0 0 0 0 0 0 0 12
BRAR—ILRNYFR/N\—T« 3> 0 0 0 0 0 0 0 0 0 0
R ATV (GGR) 2 2 0 0 0 0 0 0 0 12




